IB Math Pre HL






Name:  _____________________________
Graph to Equation






Period:  _____

Find the equation(s) of the function(s) for each graph.

1.  1 function






2.  2 functions
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3.  2 functions






4.  2 functions
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5.  2 functions






6.  1 function
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7.  2 functions






8.  1 function
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9.  2 functions






10.  2 functions

[image: image36.emf]-6

-2

3π

4

π

12


11.  1 function






12.  2 functions
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13.  2 functions





14.  1 function
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15.  2 functions





16.  2 functions

Graph to Equation Answers

1.  
[image: image43.emf]-85°,2 ( )

50°,4 ( )


2.  
[image: image2.wmf](

)

1

sin24

3

yx

=-

o

  and  
[image: image3.wmf](

)

1

cos2454

3

yx

=--

o


3.  
[image: image4.wmf]3

3sin3

22

yx

p

æö

=++

ç÷

èø

 and  
[image: image5.wmf]3

3cos3

2

yx

æö

=+

ç÷

èø


4.  
[image: image6.wmf](

)

6sin952

yx

=-+

o

 and 
[image: image7.wmf](

)

6cos9152

yx

=-+

o




5.  
[image: image8.wmf](

)

1

sin6201

2

yx

=--

o

 and 
[image: image9.wmf](

)

1

cos6251

2

yx

=+-

o


6.  
[image: image10.wmf](

)

1

2tan504

3

yx

=-+

o


7.  
[image: image11.wmf](

)

4sin23

5

yx

p

=--

 and 
[image: image12.wmf]9

4cos3

52

yx

p

æö

=--

ç÷

èø


8.  
[image: image13.wmf]1

tan241

248

yx

p

æö

=-+

ç÷

èø


9.  
[image: image14.wmf](

)

1

sin3301

2

yx

=+-

o

 and 
[image: image15.wmf](

)

1

cos31

2

yx

=-

o


10.  
[image: image16.wmf]sin1

2

yx

p

æö

=++

ç÷

èø

 and 
[image: image17.wmf](

)

cos1

yx

p

=-+


11.  
[image: image18.wmf](

)

3tan13

4

yx

p

=+-


12.  
[image: image19.wmf](

)

2sin11

yx

p

=-+

 and 
[image: image20.wmf]1

2cos1

2

yx

p

æö

=++

ç÷

èø


13.  
[image: image21.wmf]2sin

2

yx

p

æö

=+

ç÷

èø

 and 
[image: image22.wmf](

)

2cos

yx

=


14.  
[image: image23.wmf]35

4tan2

212

yx

p

æö

=--

ç÷

èø

 
15.  
[image: image24.wmf]3sin21

2

yx

p

æö

=+-

ç÷

èø

 and 
[image: image25.wmf]3cos21

4

yx

p

æö

=+-

ç÷

èø


16.  
[image: image26.wmf](

)

1

3sin360

4

yx

=+

o

 and 
[image: image27.wmf](

)

1

3cos

4

yx

=

o


_1454752891.unknown

_1454753982.unknown

_1454754507.unknown

_1454837680.unknown

_1454837681.unknown

_1454754626.unknown

_1454754750.unknown

_1454754749.unknown

_1454754583.unknown

_1454754213.unknown

_1454754242.unknown

_1454754016.unknown

_1454752953.unknown

_1454752994.unknown

_1454752918.unknown

_1454752161.unknown

_1454752390.unknown

_1454752590.unknown

_1454752171.unknown

_1424260518.unknown

_1424260522.unknown

_1454751998.unknown

_1424687251.unknown

_1424260521.unknown

_1424260516.unknown

_1424260517.unknown

_1424260515.unknown

